. Focus on understanding the place value of each digit in the number.

56 + 32

50 + 6
+ 30 + 2
80 + 8

88

[ Partition the first ruumber into tens and ones. Then under-
neath this partition the second number. Ensure they .are ploced
under the correct tens .and ones column .correctly.

2. Put the addition sign in between the tw.o .numbers—this is to
show they have heen partitioned—they still equal the same

3. Draw the two lines .and .add the addition sign .at the side
£0 we know what calculation we are .doing.

L. Then .add the tens .and ones in their columns. ALWAYS
starting with the ones. Write the .answer in between the tw.o
lines. Then .add the tens in the same w.oy.

5. Once the .addition is completed recombine the tens
and .ones.
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Focus on understanding the place value of each digit in the number.

56 + 27 =

50 + 6
+ 20 + 7

80 + 3 = 83

I. Partition the first number into tens and ones. Then under-
neath this partition the second number. Ensure they .are ploced
under the correct tens .and ones column .correctly.

2. Put the addition sign in between the tw.o .numbers—this is to
show they have heen partitioned—they still equal the same

3. Draw the two lines .and .add the addition sign .at the side
£0 we know what calculation we are .doing.

L. Then .add the tens .and ones in their columns. ALWAYS
starting with the ones.

5. If the ones column then .crosses into the tens we must leave
the ones in the ones column .and then place the ten in the tens
column.

6. Write the answer in hetween the tw.o lines. Then .add the
tens in the same w.ay. Remember to include the .additional ten
1O .

7. Once the addition is completed recomhine the tens
and ones.



Focus on understanding the place value of each digit in the
nwumber.

53—2I =
50 + 3

- 20 + |
30 + 2 = 32

Partition each of the rumbers into their tens and .ones.

. Make sure the tens .and ones are positioned in the
correct column. Even though we are subtracting we still
need to use the .addition sign to show we hove
partitioned the ruwmbers.

. Draw two lines. Write the subtroction sign .at the side.

. Start with the ones column .and subtract the .numher.
Then mowve to the tens column .and subtract.

. Once the subtraction is completed recomhine the tens and

ONeAs.



53—25 =

40

30 + 13

- 20+ 5

20 + 8 = 28

Partition each of the rumbers into their tens and .ones.

. Make sure the tens .and ones are positioned in the
correct column. Even though we are subtracting we still
need to use the addition sign to show we hove
partitioned the ruwmbers.

. Draw two lines. Write the subtroction sign .at the side.

. Start with the ones column .and subtroct the number. [f
we arent able to subtract we need to exchange one ten
and mowve it to the ones column. We can now subtroct
the ones. Then mowve to the tens column to subtract —
remembering we exchanged one so there will be ten less.

. Once the subtraction is completed recomhine the tens and

ONeAs.
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5.

5 5 5 5
L

. Write the multiplication sentence in the top har.
. Then look to see how many ‘lots off/groups of the

number there .are. Drow this amount of hoxes in the bar
helow.

Write the .multiplication numhber in each of the hoxes.
Count up in this number to find the answer.

Show that the top har is equal/the same .as the hottom
bar. The value is the same as they are the same size.
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L |
Draw .a bhar .model. I |

. Write the division sentence in the top bar.
3.

Look at the second numher to determine what ruumhber
We count up in.

In the bhox helow .count up in _ until you get to the
first number.

. Count how many _ we have. This is owr answer.



